English

1. This These, That, these are the example of adjectives.
A. demonstrative B. Passerive
C. Number D. Quantity
2. time do you go to bed ?
A. What B. why C. whose D.
3. Gandhiji was man.

A. Great B. Greater C. Greatest D.

4. 'Stronger'is a adjective

A. Comparative B. Superlative C. Positive D.
5. They have formed union

A. a B.an

C. is D. are
6. Rosy has umbrella

A. an B.a

C. the D. None of them
7. Words like crowd, army, fleet and Swarm are Called

A. Collective noun B.Proper noun

C. Abstract D. None of them
8. The women carried a of Sticks on her head

A. lunch B.bundle

C. cook D. sweet
9. Would you like tea Coffee?

A. but B.and

C. or D. both
10.He is poor honest

A. yet B.so

C. but D. or
11.We are going Hyderabad the weekend

A. from, to B.after, to

C. to, for D. above, in

which

None of them

None of them
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12.They are sitting the park

A. above B.in

C. on D. to
13. Please my humble present

A. Except B.Accept

C. Exccept D. None of the above
14.We to the zoo yesterday

A. go B.went

C. gone D. none of them

15. Ashok has gone. Add question tag to this statement.

A. haven't he? B.wasn't he?
C. was he? D. hasn't he?
16.Mary can't type. Add question tag to this statement

A. did she? B.can she?
C. can't she? D. are you?
17.Find out the feminine gender of Tiger:-

A. Lion B.Cat

C. Tigress D. Horse
18.What in the female counterpart of gander?

A. Goose B.Horse

C. Bull D. Sheep

19.Change the gender of the underlined noun and rewrite the Sentence:
Her brother was a Vamp

A. Her aunt was a Vamp B. Her niece was a vamp
C.Her sister was a vamp D. Her uncle was a vamp
20. The masculine gender of "Duck"is,

A. Gander B.Drake
C. Doe D. Drone
21.A has a subject and a predicate
A. Sentence B.Subject
C. group of words D. None of them
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22.My mom picks me up from school. is the subject of the sentence.

A. Picks B.School

C. My mom D. none
23.What in the antonym of the word 'Beautiful'?

A. Graceful B.wonderful

C. Ugly D. Handsome
24.Pick out the correct synonym of the given word 'Progress’

A. Development B. Halt

C. Diminishment D. Stagnation

25.change the given sentence into interrogative

Everybody has heard of Amitabh Bachchan .

A. Isn't that everybody has heard of Amitabh Bachchan?
B. has everybody heard of Amitabh Bachchan?

C. Everybody has heard of Amitabh Bachchan Isn't it?

D. Amitabh Bachchan is known to all?

Social Studies

26.The Prime Meridian is also known as
A. London B. Greenwich C. British

D. Parallel

27.The movement of air is called
A. breeze B. strom C. wind

D. Tempest

28.The Frigid gets the least amount of

A. Snow B. heat C. water

D. Wind

29.Mangrove forest is another name for forest

A. Tidal B. evergreen C. thorn

D. Deciduous

30.The Ujjayanta Palace was named by .

A. Rabindranath Tagore  B. Gandhiji C. Humayun
D. None of these
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31.There are members in the Rajya Sabha currently.

A. 275 B. 545 C. 250

D. 375

32.Education is compulsory and free for children below years of age.
A. Fourteen B. fifteen C. eighteen

D. Sixteen

33.The UN was formed in the year .
A. 1944 B. 1945 C. 1956

D. 1964

34.Abraham Lincoln became the____ president of the United States of America.

A. 16t B. 60t C. 6t

D. 61t

35.Mother Teresa became a nun when she was ___ years old.
A. 28 B. 18 C. 16

D. 21

36. In 1952, Nirmal Hriday was founded in .

A. Darjeeling B. Kolkata C. Delhi

D. Europe

37. Nelson Mandela became the President of South Africa in

A. 1990 B. 1999 C. 1994

D. 1991

38. There are permanent member of the Security Council
A. 3 B. 4 C. 5

D. 6

39. The UNICEF became the permanent- member of the UNin __.

A. 1953 B. 1963 C. 1976
D. 1965
40. is the highest court of the country

A. Supreme court B. High Court C. Local Court

D. Session Court
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41. The legislative council is called .

A. Vidhan Sabha B. Vidhan Panishad C. Lok Sabha

D. Rajya Sabha

42.A is not a public property.
A. road B. beach C. house
D. Monument

43. Rathas means .
A. Chariot B. Sun C. horse

D. Rock

44. There are by groups of islands in India.
A. one B. two C. three

D. Five

45. Metals are used for making

A. coin B. Utensils C. jewellery
D. All of

these

46. Which of the following endangered is an Species.
A. Tiger B. Bison C. Bothaandb

D. Deer

47. Indiscriminate felling of tree is called

A. reforestation B. aforestation C. deforestation
D. Jhum Cultivation
48.State and National boundaries are depicted on a map

A. physical B. political C. road

D. Economic

49.The longest parallel of latitude is the

A. North pole  B. axis C. Equator

D. Greenwich
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50. A map is a drawing of a geographical area on a

A.

D.

51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

tilted B. flat C. raised
Transparent

Maths
(-29)+5 =
A. 24 B.34 C.-34 D.-24

The Predecessor of -14 is

A.-15 B. 15 C.18 D.13

The successor of -22 is

A. -23 B.-21 C. 23 D.21

The largest three digit number having distinct digits is:

A. 987 B. 789 C. 999 D.900

The difference between the place value of 6 and 3 in 256839 is :

A3 B.9 C. 6800 D. 5930

The largest three digit number is-

A. 100 B.1 C. 10 D. 999

How many whole number are smaller than 9

A.0 B.1 C.9 D.3

Which of the following will not represent Zero

10—-10
2

A1:0 B.OX0o cY, D

The value of 300x4x0x10 is :

A. 1200 B.12000 C. 120000 D.O

Which one of the following is an example of a cuboid

A. a rectangular box B. A football C. A gas pipe D. An ice-cream cone
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

A brick is an example of a?

A. Cube B. Cuboid C.Prism D. Cylinder

2 .
Eof25|s.

A. 10 B.S C.5 D.50

Which one is divisible by 3
A.111 B. 755 C.752 D. 939
Place value of the encircled digit in 23 @46 is:
A. 500 B. 546 C. 540 D.5
H.C.F. of two prime number is :
A.1 B.2 C.0 D.3
Product of 148x20 is :
A. 2960 B. 3960 C. 14820 D. 2860
625 + =25
A. 25 B. 625 C.1 D.250
tons make a crore
A.1,00,000B. 1,00,00,000 C.1,000 D.10,00,000
(321x9) - = 2888
A.1 B.O C.2 D.3

| am a decimal number and I am 0.5 less than 1, then | am

A. 15 B.0.1 C.0.15 D.0.5
Which of the following is a prime number

A. 21 B.34 C.31 D. 49
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72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

The quotient of 625 and 10 is :

A.30.2 B. 60 C.62.5 D. 62

The fourth multiple of 16 is:

A. 36 B.42 C.64 D. 16

The LCMof 7and 49 is :

A.7 B.49 C.343 D. 98

The difference between the largest four digit and smallest two digit

number is :

A. 999 B.99 C. 900 D. 1000

Science

Leaves make food in the form of .

A)fats B)vitamins C)glucose D)minerals

The process of breathing is called .

A)respiration B)inhalation C)digestion D)transpiration

In the lungs, bronchi divides into ___.
A)air sacs B)bronchioles C)larynx D)trachea

____isatype of germs.

A) Bacteria B) Virus C) Protozoan D) All of these

____is caused due to deficiency of Vitamin C.
A)Malaria B)Dengue C)Scurvy D) Typhoid

The movement of air is called .

A) Breeze B)Storm C)Tempest D) Wind
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82.

83.

84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

The Frigid Zone gets the least amount of
A)snow B)heat C)water D)wind

CNG s Natural Gas.
A)Common B)Compressed C)Cold D)Convert

Metals are used for making .
A)coins B)utensils C)jewellery D)AIl of these.

Harvested grains are stored in a .
A)market B)hall C)room D)granary

Excessive use of chemical fertilizers causes .

A)soil pollution B)water pollution C)noise pollution D)air pollution

pollutes the air naturally.
A)Flood B)Storm C)Snowfall D) Earthquake

Non-biodegrable waste can never be .
A)reused B)decomposed C)thrown D)consumed

Cyclone occurin areas.
A)plains B)coastal C)deserts  D)hills

A cyclone is a large revolving ___.
A)rain  B)thunder C)flood D)storm.

Which of these is not a fuel?
A)petroleum jelly B)diesel C)natural gas D)kerosene oil.

Various food chains are __.
A)solitary B)interlinked C)independent D)together

The brain has three parts- , cerebellum & brain stem.

A)skull B)spinal cord C)cerebrum D)nerves

Page 10




94.

95.

96.

97.

98.

99.

100.

Name the seeds which disperse by water.
A)lLotus. B)Rose. C)Marigold. D)AII.
The female mosquito carries germs which cause malaria.

A)anopheles B)aedes C)rabies D)None of these
Afforestation helps in

A)reducing pollution B)protecting wildlife

C)Both (A) & ( B) D)None of these

Which of the following is an endangered species?
A)Bengal tiger B)Antelope C)Bison D)AIl of these

is not a example of fossil fuel.
A)Coal B)Petroleum C)Nuclear fuel D)Sunlight

Drinking polluted water causes .
A)headache B)asthma C)jaundice D)deafness

Gaseous waste can cause environmental hazard.

A)sunlight B)machines C)radioactive rays D)microorganisms.
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SPACE FOR ROUGH WORK
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